[E5ES25 S ) 1458
49,980 h

K5 égfé 5 hoE NG ;JE@#%E NG spz | 45 57 65 75 87 9 p 108 1178 128 17 25 37 & e

S| @ze | EFF HEA &S (Ema) EEHA G | mw | sm | em | ew | wa | en | 4k wh | #m | mm | #E | E% e o
UES:1 7 |®O- BEMG 1| EES BESH (EHEE) 3.0 60 60 60 60 60 60 60 60 60 60 60 60 720 2,160
UES:1 7 |®O - BEMG 1| EES RO (FHEE 5.0 60 60 60 60 60 60 60 60 60 60 60 60 720 3,600
UES:1 1 |F—45AN- w2 4 |vRFLER ZREEBREEAN 3.0 80 80 80 80 80 80 80 80 80 80 80 80 960 2,880
UES:1 Yv/T ;ﬁf;g : %g/ﬂﬁ% el 6 |x&EEH HENIE 30.0 20 20 20 20 20 20 20 20 20 20 20 20 240 7,200
HES:1 T |EEEEEER 2 |REAEHE %Eﬁ?ﬂgﬁ (RS 5554 - B 5.0 4 4 4 4 4 4 4 4 4 4 4 4 48 240
iE:s:1 +  |ERMEEER 3 |fERIED REER 5.0 4 4 4 4 4 4 4 4 4 4 4 4 48 240
UE:S3: +  |ERMEEER 5 |mE#E () BRZ EEAD 5 HERR 60.0 9 9 80 80 9 80 80 80 77 9 9 9 531 31,860
iE:s:1 ho | BEX 5 |mER#E () BRPE 1 FREEAFRANEZ 5.0 20 20 20 20 20 20 20 20 20 20 20 20 240 1,200
UES:1 ho B 5 |MR#E BE) REDE EEAMEE S5 F R 5.0 20 20 20 20 20 20 120 600

1/11 "=




[ZFEXHE—E] 2 FHEE

Wit 264,563 h

Ao égfé hoHER ik Uyt ;ggif oyl *HR 47 58 67 78 8A 97 108 1A 128 1A 2R 3R & &t *f;i

EE 25 EE HE% B85 Eps) EEEE G | s = i = s =N e i i e e 3 o
2| FHyEE 7 |&BO - BERS 1| B AR TR FHEEERLSA 15.0 1 1 1 1 1 1 1 1 1 1 1 1 12 180
2| FryEE 7 |BO - BERS 3 |MaeRs FHEBLBOME LG 2.0 115 15 115 15 115 15 115 15 115 15 115 115 1,380 2,760
2| Frsizie 7//14 ?gﬁzg‘l‘g/i%ﬁﬁﬁ wE| %‘;; : Egﬁﬁ/gﬁﬁﬁ CWRSER | e gk R 20.0 1 1 1 1 1 1 1 1 1 1 1 1 10 192
2| FrHETE 7/ B R (ERAR R 5 RO BEMR BN WEER s mm s asns 10.0 2 2 2 2 2 2 2 2 2 2 2 2 19 192
2| FrHETE T B e (BRRR W) o \BO RS ERARWEER gL amems — o pae 10.0 8 8 8 8 8 8 8 8 8 8 8 8 100 996
2| 3hiE T B e BRRRWE 14 |2er - am - mERE BREAv LTV IIBEAORKE | 50 0 0 0 0 0 0 50 10 10 1 0 0 7 213
2| FrhE 7//14 figzgjggiﬁmﬁ R 4w omm e mRE BEEOF HEEERE 8.0 5 1 1 1 1 1 160 100 35 20 1 4 330 2,640
2| FhhEERE 7//; ?iiﬁgﬁgé%ﬁﬁﬁ HE| gy 2 - AR RITES EREMAKEOENXHERT 3.0 17 17 18 17 18 18 18 20 17 25 17 17 219 657
Rk 7//; ?iﬁ??iﬁﬁ*ﬁ R 14 |26 oAk mARS BN ARG T IS O RIS S 3.0 5 1 1 1 1 1 1 3 1 1 1 3 20 60
2| FHr#EE 7//1'f fggﬁgjgg ERRRCWE| 14 3goam - mEER FELOFHEEERE 10.0 5 10 10 5 5 5 5 5 5 5 10 10 80 800
2|3mm A A I E R e s HABER LAY — K BRE 3.0 2 2 2 2 2 2 2 2 2 2 2 2 2 72
2| FhsE 9 éggﬁgﬂgé%;ﬁiﬁgﬁ? 13 |2ff - AR XH0E BBEOFHEEROLVRL 8.0 10 10 5 5 0 0 80 120 40 20 20 20 330 2,640
2| FHEE [y te éggﬁgﬂgé%;ﬁ;ﬁgﬁ? 13| B AR TR FELOFHREROLVREL 10.0 10 5 10 10 5 5 5 5 5 5 5 10 80 800
2| FrHEE 7//; é;ﬁ%%ﬂm/gﬁﬁﬁ TWE| g ;’i; B [T PP s PE 10.0 5 5 5 5 20 200
B 7//; ?;ﬂ\%gﬂﬁ/giﬁﬁiﬁ THWE| g ;\i; - BEXMIS/ ERRR - L X %?T&Em?ﬁ%%ﬁ (FELDFHHE 30.0 8 8 8 8 8 8 8 8 8 8 8 8 90 2,700
2| FhyHE 7//; é;ﬁ%gﬂm/g;ﬁﬁﬁ TWE| g ;‘i‘; FBENDERRR WS s pmAn 1.5 200 200 200 200 200 200 200 200 200 200 200 200| 2,400 3,600
2| 35w 1 |mman e wE 7 |FmEmmRARES FRIAEES UABRALARER | 5 o 50 50 65 65 65 50 50 50 50 50 50 50 64s| 1,290
2| FosiE 1 |mmEAg - W 7 |PEEER AR [REREAS (BRES LTy 1.0 0 0 0 0 0 0 o s,750| 11,800 3,400 400 10| 21,360| 21,360
2| FhhE 1 |EBERR - R 7| PUEEERRRER FRERRES (BEE D ARE) 1.5 220 180 80 70 60 60 60 60 60 60 80 140 1,130 1,695
2| FhsE 4 |EEAR - BE 7 |PREEERARES FREAREH (FLB) 1.0| 2,300| 2,250 2,300 2,250 2,300/ 2,500| 2,700 2,800 2,500\ 2,500| 2,250/ 2,800| 29,450| 29,450
2| FHrEE 1 | EERR - R T | PIHEEER RS FREAREH (ERALA) 2.0 10 10 30 20 20 20 15 15 15 10 15 20 200 400
2| FhsE 4 |EEAR - BE 9 |FHEEEELY E;Ef;g CHPIXTE - MRS - ETEE | 4g o 20 20 22 20 22 20 21 21 20 19 19 20 244 2,440
2| FrHEE Sl 5 BRR WL/ T—0AN | mkmmss _f;fg (WP -9 - KEZATL | 5099 5 5 5 5 5 5 5 5 5 5 5 5 60| 18,000
2| FrhimE Y |F—8 AN BR 10 | PEEBANKRER ANHEBLES (FLLOFIHERE) 1.0| 3,260| 3,210| 3,260 3,210| 3,260\ 3,460\ 3,660 3,760| 3,460\ 3,460\ 3,210/ 3,760 40,970| 40,970
2| FrhE Y |F—4 AN BR 10 | FEEBANKRES ANHRES (BFEHFRAR) 3.0 100 100 70 70 70 70 150 200 160 90 90 90| 1,260 3,780
2| FHrEE Y| T8AN - ER 10 | PHEEANRRES é[@g*’%}% (EHAMERSD - BHED 3.0 5 5 1 1 1 1 1 130 70 10 10 1 236 708
2| FrEnE Y |F-4AD - BR 10 | PEEBANKRER éé‘gb%ﬁ (ERAMKED - FELO | 5 g 5 15 5 15 60 30 5 20 5 10 40 15 225 675
2| FrEnE Y |F-4AD - BR 10 | PEEBANKRER g?‘ggﬁg)m*%"&”“"hmﬁ 3.0 50 50 65 65 65 50 50 50 50 50 50 50 645 1,935
2| FrEnE Y |F-4AD - BR 10 | FEEBANKRES ANHRES (EEEALATFHEE) 3.0 10 10 30 20 20 20 15 15 15 10 15 20 200 600
2| FrEnE Y |F-4AD - BR 10 | FEEBANKRES éjﬁgm%}g (R ER AREF ik 2.0 220 180 80 70 60 60 60 60 60 60 80 140 1,130 2,260
2| FrinE Y |F-4AD - BR 10 | PEEBANKRER émg“’“%}% EBEAVTLIFF g5 0 0 0 0 0 0 o| 5,750| 11,800 3,400 400 10| 21,360 32,040
2| FhE v |F—4 AN BR 1| FHEEANLS ;jﬁé%}% (ERAMKED - BREOTH | 5 5 5 1 1 1 1 1 130 70 10 10 1 236 1,180
2| FhE v |F—4 AN BR 1| FHEEANLS ;jﬁé%}% (ERAMKED - FLLOFH | 5 ¢ 5 15 5 15 60 30 5 20 5 10 40 15 225 1,125

2/ 11 R=2




[ZREHRE—R] 2 PR
et 264,563 h
¥ g |ve s | i A mhlw | w|n 8|22 8|8 8|88 8 |W|TF
2| FRr#EE v |FaAh - ER 1| PHEEBANES ANEH (FEMFRNR) 3.0 100 100 70 70 70 70 150 200 160 90 90 90| 1,260 3,780
2| FhhsE v |FaAh - ER 1| PHREA LR @g%? (RABERLARERE - F 3.0 50 50 65 65 65 50 50 50 50 50 50 50 645 1,935
2| FrhHEE V| T8AN - EER 11 | FHEEANES ANEB (EERA LA FHER) 3.0 10 10 30 20 20 20 15 15 15 10 15 20 200 600
2| FrhHEE v |TAAN - BB 1 | FOHEEANES ANEE (SHEMAKETFHRE 2.0 220 180 80 70 60 60 60 60 60 60 80 140 1,130 2,260
2| FR#EE V| T8AN - EER 1 | FOHEEANES ;g%g%ﬁt&%%%}%ﬁ)\ﬁ (Feem 2.0 38 38 38 38 38 38 38 38 38 38 38 38 450 900
2| FrHEE Y |F—sAn - wR 1N |PHEEANLS é)ﬁﬁﬁ (BIEA L IVTVHFWE | g 5 0 0 0 0 0 0 o| s,750| 11,800| 3,400 400 10| 21,360| 32,040
2| FR#EE T |XEEMN A TR AR HER ERTHSN T BB S 10.0 9 9 9 9 9 9 9 9 9 9 9 9 108 1,080
2| FiE T |xEfeA R 4 |EAER RN Esﬁ%»r YINTUYTIHEREEESE | 50 o 58 58 58 58 232 4,640
2| PEE T |xEfeA - EH 4 |xEleR - %A igz%’j”lyﬁ%ﬁgﬁ%ﬁ%%ﬁ 300.0 4 4 1,200
2| FrimiE T |Efes - 24 4 |xmaes e gsﬁg'f YINTUYFHERRERS |, 34 34 34 34 34 34 204 408
2| FRHEIE T XEER - R 4 |SUEE R BEEMARE (ER) - #HA 360.0 5 5 1,800
2| FRHEIE T |XEEM R 4 | B R FEENADIF Y (FR) FR - HA | 360.0 2 2 720
2| FRHEIE T |XEEM R 4 |SUEE R HEETHEERGEERARN - H#A 360.0 10 10 3,600
2| FRHEIE T XEER - R 4 |SUEE R BAR% - 2/RE (EW) fEA - HA | 360.0 1 1 360
2| FRHEIE T XEER - R 4 |SUEE R BLAY—RY (ER) - #HA 360.0 1 1 360
2| FRHHEE T |XEEM R 4 |SUEE R XHIBREBER - HA (FA - 5 45.0 1 1 1 1 1 1 1 1 1 1 1 1 12 540
2| FhhE T [ XEER - R 6 | FErEEMRIE AL IR AR (EREERMAEL 15.0 2 110 2 2 2 120 10 5 5 2 2 290 552 8,280
2| 3y T |sEfeR - 4 6 |FHEEDBHALS PSR ERERGE VB 1 50l so0| 1,000 00 0 0 0 0 o| 1,200 900 o soo| 4,600 9,200
2| FhhEiE T [cEBfEsL - EA 6 | FOHEIBERIS AL %?'ﬁm;g (B ER KA T B 1.5 0 0 0 0 0 i 0 0 0 0 o| 5,500 5,500 8,250
2| FhhEE T [cEBfEsL - EA 6 | TRHEIEERI S AL HRIHALE (7/FvFE2—) 2.0 100 100 100 100 100 100 100 100 100 100 100 100| 1,200 2,400
2| FhhE T [ XEER - R 8 | FRrEEAMIRERES %@g?%%ﬁi@é%;fyﬁﬁm" 4.0 0 0 0 0 0 0 0 0 0 0 0 200 200 800
2| FhhEmE T |BAERL - R 8 | FIEEEMRERER ﬁgfﬂyﬁ’g HPVEYyFT7yT -8 2.0 0 50 0 0 0 0 0 0 0 0 0 0 50 100
2| FhhEE T [ XEER - R 8 | FRrEEAMIRERES Efmﬂyﬁ’g (BiHHERSKE - it 2.0 0 0 0 0 0 0 0 0 0 0 0 50 50 100
2| FrhHEE T |XEEM R 12 | PHEEREEE REEH (HITNOERS) 5.0 1 1 1 1 1 1 1 20 70 15 5 3 120 600

3/ 11 R=2




[ZFEXHE—E]

3MERHE (FE) BED

) REDE

& LEBE - KB - BISIAR - BF)

322,516 h
NF| aeE | S £ it 2 Y I I I B O O I I I I
=g (E2Z) =g BHE% HE (E52) BB #: #: #: # i # i # fH fH &)

3 g)ﬁggég 7 w0 - BIERIS 2 BOEREE ?;EJT‘»;@T (LY b7 oR - R 5.0 200 200 200 224 214 230 230 230 227 226 228 214 2,623 13,115
TRGA (& [ B k- EHEDS & CBRENE

3 %) RRED 7 RO - BIEXS 5 BZFHZM FUEROSH B & 5.0 24 24 24 12 24 24 24 12 12 6 186 930
TRGA (& L mer o B - ik BHRDS & CBEERE

3 %) REDH 7 RO - BERS 5 BZIHZM FUBESM 3.0 160 160 160 60 160 160 160 80 40 10 1,150 3,450

3 g;&@;é% 7 |®A - BEMS 5 |RE2IHRG mREE (FE) BR2FHRMG (BO) 16.0 160 160 160 160 160 160 960 15,360

3 g;&@;é% 7 |®A - BEMS 5 |RE2IHRG TREE (FE) BRDEFTHNERERM 5.0 2,000{ 2,000| 2,000 1,000( 2,000( 2,000/ 2,000/ 1,000 600 14,600 73,000

3 E)R@;?é% 7 RO - BIEXS 6 BEX g%@& W) REDE~O— G 3.0 220 320 320 320 320 320 320 320 320 320 320 300 3,720 11,160

3 mR#a (f 1 BRESM 5 BZFHZM BENARY HASH 120.0 13 12 13 12 10 8 12 80 9,600
ﬁ) @@%2 RZ = 8z Vi ] &z =1 - ’

3 gs@;;ﬁg A BRESM 5 BZFHZM o2 Nl ES S 10.0 20 20 20 20 20 20 20 20 20 15 20 20 235 2,350

3 mRHEE (% A BESA 5 BZFHZM BEEAE HA2 105.0 2 3 3 3 2 2 2 17 1,785
E) @ﬁ;@ RZ = Z T ) I IR =1 - ’

3 gsﬁ;%g A BEESM 5 BZFHZM PN NEIES 10.0 23 23 23 23 23 23 23 23 23 23 23 23 276 2,760
HRES (F - - BERD - HAARDA 1 U I - RRE

] Pt 1 |epEE4 5 |epInes SN el S a4 = 20.0 23 23 23 23 23 23 23 23 23 23 23 23 276 5,520

3 gsﬁ‘;?ﬁg 7] T—RAN - FER 3 BEHERT — 2585 75 LA E DRI B8 1. 1,120 500 350 500 430 100 3,000 4,500

3 gsﬁ‘;?ﬁ% 7] T—RAN - FER 3 BEHERT — 2585 BENABE OCREGR - HREUAMTBHL 1.0 180 100 180 270 300 450 150 270 100 2,000 2,000

3 gsﬁ;%ﬁ 7] T—RAN - FER 3 BEHERT — 2585 BENARY HREER 1.0 180 100 180 270 300 450 150 270 100 2,000 2,000

3 gsﬁ‘;?ﬁg 7] T—RAN - FER 3 BEHERT — 2585 BAAKRY HERERRSHR 1.0 32 32 32 32 32 32 32 32 32 32 320 320

3 gsﬁ‘;?ﬁg 7] T—RAN - FER 3 BEHERT — 2585 wRMEEZE OCRESH 0.3 400 500 450 350 400 200 2,300 690
mRHEE (F =_ . s N = FF#USBT—4 B YAL (MERBZRK

3 %) REDE 7 T—RAN - HER 3 BEHERT — 258k =i 5.0 17 17 17 17 17 17 102 510

3| ERER & Y |F—sAn - wm 3 |mpear—sss RS OCRBH 0.3 60 70 40 40 70 30 310 93

3 mRga 7] TR AN - HER 3 BEHERT — 258k B2 #HREH 1.0 30 70 30 20 40 70 50 310 310
E) @E%@E T A azitaaxT =27 iz TaRe .

3 mRga 7] TR AN - HER 3 BEHERT — 258k RERE HREH 1.0 10 20 5 5 20 25 15 100 100
E) @ﬁ%@ T A azitaaxT =27 TaRE .

3 gsﬁ;%ﬁ 7] T—RAN - HER 3 BEHERT — 258k BEL Y P UkE OCRESR 0.3 140 120 90 70 80 30 530 159

3 gsﬁ;%g 7] T—RAN - HER 3 BEHERT — 258k BHLY M URE ERES 1.0 2,000 2,700 500 1,600 2,200 2,100 1,300 12,400 12,400

o TRER & Y |F—sAn - wm 3 |mpear—sss RBHEAS (RE - FF - SR 2.0 25 25 25 25 25 25 25 25 25 225 450

e Y |F—sAn - wm 3 |mpHRT—ss8 aEEBEEE BRER 3.0 69 69 69 69 69 20 365 1,095

3| RIS (5 Y |F—sAn-wR 3 |mpraF-sss “UBBE MBEAD 90.0 4 4 4 4 4 4 2| 2,160
%) RED T i Ziaa T =i 1 = HEZS . ’

3| MEMS (5 Y |F—sAn-wR 3 |mpraF-sss BEENE HREH 5.0 2 3 4 3 2 2 2 18 90
E) {gﬁ;@ T i azitaaxT =21 =) EHRIE TERES .

o BREe S Y |F—sAn-wR 3 |eBRRT—sz8 BRLAARS BERERRER 1.0 22 22 22 22 22 22 22 22 22 22 220 220

3 g?g;?ﬁ% 7 T—RAN - R 3 BZHERT — 2 &% ERANARSHERES 1. 50 400 300 150 400 350 400 250 250 150 2,700 4,050

3 g?g;?ﬁ% 7 T—RAN - R 3 BZHERT — 2 &% BERNFENAKRE HREH 1.0 100 100 100 100 100 100 100 100 100 100 1,000 1,000

o BReEe S Y |F—sAn-wR 3 |eBRRT—sz8 WREY BERERREE 1.0 15 15 15 15 15 15 15 15 15 15 150 150

o BRee S v |F—sAn-wm 3 |eBRRT—sz6 TREAGTREDE OCREE 1.0 100 100 75| q2s|  azs 75 600 600

3 gﬁé;,ﬁﬁ% v |F—aAN - BR 3 |kzasRET—s28% TRAABTRESE OCRER 0.3 3,555| 2,655 o| 2,655 2,955 2,755\ 1,355 0 0 o| 15,930 4,779

3| MR#A (! v |F—a AN BR 3 |mpeET-sBE DREAWDREDESRT 285G (1| 34 20 20 20 20 20 20 20 140 4,200

4/11 R=2




[ZFEXHE—E]

3MERHE (FE) BED

322,516 h
el T S £ it 2 Y I I I B O O I I I I
=g (E2Z) =g BHE% HE (E52) BB # # # # i # i # s s &)
3 mRRE (R I F—R AN - HER 3 BIHERT— 4255 BIMRMARE OCRES 0.3 140 120 150 90 90 40 630 189
ﬁ) {EE%@E T A azia T AL 2z =2 -
3 g)&%gé% Y |F—4AN - R 3 |RBPRET—42B& WA ARD HRER 1.0 90 120 50 100 90 90 90 630 630
3| ERER E Y |F—sAn- w2 3 |epgET-ss8 WEBAARE WERERRER 1.0 2 4 4 4 4 4 4 4 30 30
3 MRHEE (% 7] T—RAN - R 3 BE2HERT — 2585 BILRNAKRE HEEH 3.0 21 18 17 21 18 6 101 303
ﬁ) {E@%@ T A az o T =2 BIJAL 2z ER -
3 g)ﬁﬁgi’;% 7 T—RAN - FER 3 BE2HERT — 2585 KENAKRY BREG 1.0 600 600 300 600 600 600 600 500 300 300 5,000 5,000
3 E)R@;%% v} FT—R AN - R 3 BEYRHRRET— 25K KN ARZUSBT —2ELY 5AH 5.0 20 20 20 20 20 20 20 20 20 180 900
3| RS (! Y |F—sAn - BB 3 |ppaaT-s58 BERD - AN - EREDEERR 30.0 1 1 1 1 1 1 6 180
%) RED T Ei PRERT fox T2 # PERE .
HREA (B —_ . VR o el
3| e Y |F—4AN - R 3 |RBPRET-4B& HEEAERBIATE 10.0 1 1 1 1 1 1 1 1 1 1 1 12 120
3 mRHEE (% 7] T—RAN - HER 3 BEHERT — 258 RFRS HEREH 0.5 350 500 100 50 1,000 500
E) @ﬁ;@ T A azitaaxT =279 6k =2 . ’
3 E)Eﬁ;%g 7] T—HRAN - FER 3 BEHERT — 258 MAARYE HERAERRSHR 1.0 38 38 38 38 38 38 38 38 38 38 380 380
3| ERER & Y |F—saAn-wR 3 |mpHRT—sE8 WAARD (BE) KRB 1.0 10 65 30 70 70 20 35 300 300
3 mRga ¢ 7] T—RAN - HER 3 BEHERT — 2585 HEBHR - B 5.0 20 20 20 20 20 20 20 140 700
%) REDE T Ei PIERT =4 ERRER - & .
3| ERER & Y |F—saAn-wR 3 |mpHRT—sE8 £0 - EUFEAARS HERERRSS| 0.5 8 6 6 6 6 6 6 6 50 25
3 gsﬁ;éﬁ 5} F—HR AN - R 3 BEHERT — 2585 EFAFENAKRE OCREHK 0.3 350 400 450 350 300 150 2,000 600
3 E)Eﬁ;%g 7] T—RAN - FER 3 BEHERT — 2585 KRAFENAKRE HREH 1.0 200 340 200 340 340 340 240 2,000 2,000
3| ERER & Y |F—saAn-wR 3 |epeRr—szs KBHARD BERESRER 0.5 30 30 30 30 30 30 30 30 30 30 300 150
o TRER & 5 |F—sAn - ER 5 |@BIHEM BRGA () REDEFHWDLSE | 3.0 200 2000 200 00| 200 200/ 200 50 1,350| 4,050
a|EAA (5 Y| F—aANn - wR 5 |REIaSMg MRS (W8 REPEFHENSR | 5, 800 800 800 800 800 800 800 50 5,650 16,950
) RED & (A
o TRER & Y |F—sAn-wR 5 |mpInsM AR Ky o BBESH 3.0 4 4 4 4 4 4 4 4 4 4 4 43 130
3 mER#S (5 T CEER - EM 1 fERBARST ¥ EZEUY 40.0 26 26 26 26 26 26 26 20 202 8,080
%) fED = Ef & T | R E] . ’
3 mRfe (45 I XELER - AR 1 fERBARAT HEZH A 20.0 20 20 20 20 20 20 20 140 2,800
%) fED = Ef & T | 2R . ’
3 g%ggég T e - 24 4 |meaauEr BRARE MBESA 0.5 300 100] 650 300 220 360 560 210 2,700 1,350
3| ERER & T |- 24 4 |mpenEE BAARBRESA 0.5 180 90| 70| 270| s00| 4so| 1so| 270|100 1,980 990
e T |- 24 4 |mpenEE FHRD SRIA 0.5 30 70 30 20 40 70 50 310 155
ERESSE | = |xmemons 4 |@BRAmEE BEENE MERHA 0.5 200 100  100|  100| 100| 100|  100|  100|  100| 1,000 500
3 g?g;é% T XEER - EA 4 B2ESYER ERANAKRE BRIA 0.5 50 400 300 300 400 400 400 300 300 150 3,000 1,500
3 g?g;ég I XEER - EA 4 B2EYER ERNFENAKRE HRHA 0.5 100 100 100 100 100 100 100 100 100 100 1,000 500
3 g)ﬁggzg% I XEER - EA 4 B2EYER WRHEREZE ®RHA 0.5 300 500 100 300 350 400 350 2,300 1,150
a|TEEa (F T e 24 4 |mpenEE FRBBEAAR 5 — (e - DR 30.0 1 30
E) {E%EJ/\? = ) aZ I8N R Rz N -
mEHKE (F o |y a0 TREPREHIERNTF S  BESEF %
iy -85 T |- 4 4 |ezaawms e # 30.0 6 6 . 16 480
3 g)ﬁﬁégzg% I XEER - EA 4 B2E YR TREAAEEIREZE #EHA 0.5 1,500 2,300 1,500 1,400 2,100 3,300 1,100 13,200 6,600
3 gsg;;g I CEMEM - EA 4 B2EMYER MERAEEEIREZERRNEA 0.5 3,100 12,900 11,700 9,100 7,100 2,200 46,100 23,050
ERESSE | |emeemoze 4 |mmtpmE MARAARE HRIA 0.5 so| 120]  so| 00|  so|  eo| 0 630 315

5/ 11 R=




(EFRTHE %) IMRMA CFE) RED

322,516 h

25 égfé 4348 548 NG %@f@.ﬁ N wp | 458 55 65 78 88 97 108 115 128 13 25 3A LW s

S| @ze | EFF HEA &S (Ema) EEHA G | mmo | sk | owa | em | sm | em | R | R | dk | ew | éw | #% e o
3 g)ﬁg;g’% T |xmeEm - e 4 |esrawEE KB ARDHEREA 0.5 600 600 300 600 600 600 600 500 300 300 5,000 2,500
3 gsggé*}f T [EBfERL - R 4 |EBEAmBIR KBHABEEAHE RIBREA 1.0 100 100 50 100 50 50 50 50 50 0 600 600
3 g)ﬁ@;éﬁ T [EBfERL - R 4 LG ANABRDBEFHE MDEAR - HA 3.0 50 200 150 100 50 50 50 200 130 20 1,000 3,000
3 g?@gﬁ"f T | XEEM A 4 |RBEAYER RFES HEREHA 0.5 350 500 100 50 1,000 500
3 g?@gﬁ"f T | XEEM A 4 |EPEAmRK FREPIR S RIE R B 120.0 21 18 17 21 18 6 101 12,120
IR |z |xmemoae 4 |mpemms BHARE (G5  SREHA 1.0 65| 30 | | 10| w5 220 220
3 g?@gﬁ"f T | XEEM - R 4 |EZRAHRER WAARE (BHLY MY OH) REREA 0.5 140 120 90 70 80 30 530 265
3 g?@gﬁ"f T [XEER - R 4 |ERXiyER bt A KRR ~ O BRI AL 5.0 70 70 70 70 70 70 70 490 2,450
3 g)&g;éﬁ T | wmpes - 24 4 |EzEamBEE B0 ARDHRE ~OBEGBELE 5.0 50 25 50 50 50 50 25 50 50 400 2,000
3 gszg@(g T [semfest - 2 4 |EBEABE Eﬁﬁé (BE) REDEMBRAA - 3.0 1,680 1,680| 1,680 720| 1,680 1,680 600 180 9,900| 29,700
3 gs;gé*’f T |- 24 4 |EBEABE EEFENARE  HRHA 0.5 200 340 200 340 340 340 240 2,000 1,000
| TREE & [ P —— 5 |es3ess PERER ERRPRIURERNE| 5, 224 224|224 80| 224 224 224 164|164 34 1,78| 5,358
s gszgég [ . 7 |wzen iféﬂiﬁt (TR#E (FE) REDER | 44 1 1 1 1 1 1 1 7 1,260

6/ 11 "=



[ZFEXHE—E]

4 BRFE
2,790 h
KDE égfé AE 4358 INGYE ;JE@#%E INYEE %82 | 45 58 68 78 88 9A 108 118 128 18 28 38 a it e
®e (ai) Be EE% Be (S5 EEM & | PrTe ¥ % = % =7 =73 =7 ek =8 ek 23 &
4| BExE 7| R - A 1 |FIRIERS g;;%’i FBHERAYIR - £y MER | 50 1 1 1 1 1 1 1 1 1 9 270
4| BRAE 7| XEEM - R 1 |ENRIZERS J—TLv b ENRIZEHS 120.0 1 1 120
4| BRI A |BHEEERE 2 | EEH RIBHE - BRags Lo 240.0 10 2,400

7/ 11 R=T




[ZFEXHE—E]

5 A S

35,628 h
RO égfé 5 5 NG ;JE@#%E NG spz | 45 57 65 75 85 9 p 108 1178 128 18 25 37 & e
£2 () &2 EE4 p.3 (S5 bz G/ | K % ¥ % 3 % ¥ ety ¥ s 3 5 3 [z s
5| fE RS 7 |®O - BERS T |ReEBE BEHESNEFHEH 1.0 0 30 0 30 30 30 30 30 30 30 30 30 300 300
5| RS 7 |®A - BEMS 1| BEEE BEZER T 1—ILESH 15.0 1 0 0 0 0 0 0 0 0 0 0 0 1 15
5| RIS E 14 | T—2AN - HR 1T |EEEE T — MERASEE 30.0 0 0 0 1 2 1 4 3 2 13 390
5| RIS E 14 | T—2AN - HR 2 |RPIESAIE FREPIE S RIE SRR 1.0 0 0 350 530 0 120 0 0 0 0 0 0 1,000 1,000
5| RIS E 14 | T—2AD - HR 2 |RPIESAIE RePIESRIERERAN 1.0 0 0 350 530 0 120 0 0 0 0 0 0 1,000 1,000
5| RIS E v |XEER R 1T |EEEE BEZE/NY T Ly MEDR 30.0 1 0 1 0 0 0 0 0 0 0 0 0 2 60
5| RIS E v |XEER R 1T |EEEE ASa=TA YA —BFEBEER 10.0 1 1 1 1 1 1 1 7 70
5| ke REiE S B R 2 |RPESAE PR 18 5y R Rl AR AL 1.0| 2,300| 2,550 2,950 3,080 2,420 2,920| 3,000/ 3,100 2,620 2,500 2,250\ 2,800| 32,490 32,490
5| RIS E I |HEEEHE 1| REEE RIGHE 30.0 1 1 1 1 2 2 1 9 270
5| RIS E I |HEEEHE 1| REEE FRIEREER 3.0 0 1 0 0 0 1 1 2 2 1 2 1 1 33

8/ 11 "=




[ZExHE %) 6 NERFHEMME - B
35,550 h
AN égfé Lk ik W% ;ggif oyl (ﬁiﬁ% 47 58 67 78 8A 97 108 1A 128 1A 2R 3R & &t *f;i
f G E5 HE4 Py FEA EE er Pt g #H g et et e 5 e i P e G
6 é;ﬁﬁwiﬁ 7 |&BA - BEMS 1 |REEHHF ROBARIE 5.0 20 20 20 20 20 20 20 20 20 20 20 20 240 1,200
6 g?%ﬁ%&gﬁ 7 |®o - @ 15 |&m#kE BRBAEH 1.0 300 300 300 300 300 300 300 300 300 300 300 300 3,600 3,600
6 g%gﬁ%&gﬁ 7 |TAAN R 21 |REFUFRE SRTF LA 180.0 1 1 180
6 ;&fgﬁ%&gﬁ 7 |z=o- 'EHs 21 |mEFumkE S 1.0 200 200 200
NEREHER . NERBEHEEA YV IILI VY FHER A
6 - e A | B - A 3 R ERER - HA 360.0 2 2 720
6 g;gﬁ?&gﬁ 1 |mmAR - wE 12 |mesas DERBERIFE 3.0 45 45 45 45 45 45 45 45 45 45 45 495 1,485
6 g%gﬁ%&gﬁ A | KB - XA 13 | XEBEZH BRER (AERLE) 90.0 1 1 1 1 1 1 1 1 1 1 1 1 12 1,080
6 g?%ﬁ?&gﬁ 1 | - x4 20 |GHEESHNDE KA - 3 A 180.0 3 3 540
o|GTEEEER | wmen 21 |mETumRE FREEA - HA 180.0 3 3 540
o GTEEEER | o lz0 . s 1 |leETR B4 - BORH 3.0 5 5 5 5 5 5 5 5 5 5 5 5 60 180
o|GFREBER | o |7—san-wm 2 |mEnErE Antes o.s|  so| sof so| so| so| so| so so| so| so| so so 600 300
6 é?%ﬁ*&gﬁ Y |F—sAn - BR 5 |mEixEpERE AfEz 0.5 180 180 180 180 180 180 180 180 180 180 180 180 2,160 1,080
6 é?%ﬁ*&gﬁ Y |F—sAn - BR 7 |xhENEsE AfEz 5.0 60 60 60 60 60 60 60 60 60 60 60 60 720 3,600
6 é?%?ﬁgﬁ Y |F—sAn - R 10 |pREmxENERE ARfEE 0.5 300 300 300 300 300 300 300 300 300 300 300 300 3,600 1,800
o|GFREBER | o |7—san-wm 12 |exeas BERANEE 3.0 45 45 45 45 45 45 45 45 45 45 45 45| 1,485
6 é?%?&%ﬁ Y |F—sAn - BR 16 %ﬁékwﬁ SREMBMEANERR | 2 oprpen 0.5 1,000 1,000 500
6 ”:\ N %Mﬁﬁﬁ D |T—AAN - BER 16 |FEEAREBDRAMBMEEERR | 2 oo s 0.5 1,000 1,000 500
& - =4t #
|AEREHER | o |2_gan . gm 19 |pmmmEss Anfez 0.5 300 300 300 300 300 300 300 300 300 300 300 300 3,600 1,800
- e T E PE FRE . , ,
6| GFRESER | o |7—san-wm 21 |mETuERE Antes 0.5 850 850 425
NEREHER o | sy NERBEHREEA YV IILI VY THER .
dra T |XEEM - R 8 \mmme YA IEZE 0.1 850 850 85
NEREHER o | sy NERBEHREEA VIILI VY FHEE |.
dra T |XEEM - R 8 \mmms BHBLEERIMEZE 0.1 850 850 85
NEREHER o | sy NERBEHREEA YV IILI VY FHER
dra T |XEEM - R 8 \mmma HALEE 1.0 850 850 850
o| BFREBER | |wmm - an 4 |aEmErsEEn 57U ABER 0.1 850 850 85
o|GFREEER | wmemaa 4 |aEmErsEEn BOBEORIEE 0.1 850 850 85
o|AEREBER | o | - et 4 |nEmmaLEEs AR RS
o = 5 AEHE i FRAPE A R B AL 1.0 850 850 850
6|GTREEER | wmem e 6 |EHRENEEUR fettes 5.0 3 3 3 3 3 3 3 3 3 3 3 3 36 180
| AEREREM | o |y nn 7 | EREDWESE 137 =3 5.0 60 60 60 60 60 60 60 60 60 60 60 60 720 3,600
rﬁ“ *aa = ] V=) aZ| S - ’
NERERER I I,
8| o T |xEfes - kA 7 |EREDNREE HAMEE 1.0 60 60 60 60 60 60 60 60 60 60 60 60 720 720
6 {;: %ﬁ%&gﬁ T |xEfes - kA 8 |zmEmEmRES e 0.1 1,000 1,000 1,000| 1,000 1,000| 1,000 1,000| 1,000| 1,000| 1,000| 1,000| 1,000| 12,000 1,200
6 gﬁ fiﬁ*&gﬁ T |xEfes - kA 9 |ZHEBEOREBM YRR 0.1 300 300 300 300 300 300 300 300 300 300 300 300 3,600 360
6 (,;: ;’i?wgﬁ T |xEfes - kA 9 |ZHEBEOREBM HAE 1.0 300 300 300 300 300 300 300 300 300 300 300 300 3,600 3,600
6|GTHREER | |xmpem- x4 14 [uneys—saommEm Y RBIER 0.1 600 600 60
o|AFREEER | & |vmmm e VS PN S p— EAEE R 0.1 600 600 60

9/ 1M R=Y




[ZFEXHE—E]

S AERFHEMHME - Bt

35,550 h
x| A2E anm B N e N wsg | 4 | sa | es | 78 | sm | em | s | um | 28 | 1A | 28 | am | a.m | XEE
BE% BE% t
®e ey Ay EE4 2 (S5 bel=E 43/#) B HH B HH H# HH B 3 B HH B HH HH @;
| LEREHEM® | o |y s 14 |unEyF— 3 rmEN HAMEE 1.0 600 600 600
B - @
o|AFREEEH | = |vapn e I R ) e 0.1 1,000 1,000 100
o| GTFREBER | |wmem - an 17 |asmExE mEEE 5.0 15 15 &
o| GTFREBER | |wmem - an 18 |AEHEFUHKE FYUABIEE 0.1 850 850 85
o| GTFREBER | |wmem - an 18 |ABEHEFUHRRE BABBEORIMEE 0.1 850 850 85
o| GTFREBER | |wmem - an 18 |AEHEFUHKE HALEE 1.0/ 850 850 850
6 g?gﬁ*&gﬁ T |XEBME %M 20 |GHEESHNDE Y RBEL 0.1 600 600 60
o|BERERER | x |xmeem - an 20 |mwgEsmsY BAOEBORIEE 0.1 600 600 60
B E
o| GTREBER | |wmew - an 20 |EwEESNDE AR 1.0 600 600 600

10/ 11 ~=2




[ZFEXHE—E] 7 @RkE®

223,500 h
K5 égfé 5 hoE NG %gfé NG spz | 45 57 65 75 87 9 p 108 1178 125 17 25 37 & SN
B2 ez BEE EE4 2 (S5 THE S G/ | K % 3 % ¥ % ¥ =3 ¥ % ¥ 5 28 &
UL 7 |F—4An- w2 1 |RPRET455 ERIERHEZ M2 OCREH 1.5 400 400 400 500 400 450 350 400 400 400 400 400 4,900 7,350
7| MER R 7 |TAAD - ER 1T |EPRERT-2B& EREY WEREBRREE 4.0 15 15 15 15 15 15 15 15 15 15 15 15 180 720
7| MER R 7 O |TAAD - ER 1T |EPRERT-2B& BRI - R - AREDRAF> 30.0 1 1 1 1 1 1 1 1 1 1 1 1 12 360
UL 7 |F—4An- w2 1 |RPRRT 288K E’D’_”%zﬁ;ﬁ;f%i? (- L8| 45 g 20 20 20 20 20 20 20 20 20 20 20 20 240/ 10,800
UL 7 |F—4An- w2 1 |ePRET—455 ERIEZRZ OCREEH 1.5| 3,100 3,100| 3,100| 2,200 3,100| 2,200{ 2,500/ 2,300 900 900 900 900| 25,200 37,800
UL 7 |F—4An- w2 1 |ePRET—455 ERIEZRZ OCREE 1.5 100 100 100 100 100 100 125 125 100 100 100 100| 1,250 1,875
7| MER R 7 O |TAAD - ER 1T |EPRERT-2B& ERERMES HEREERER 4.0 15 15 15 15 15 15 15 15 15 15 15 15 180 720
UL 7 |F—4An- w2 1 |ePRET—455& ERERED R T—288K 45.0 20 20 20 20 20 20 20 20 20 20 20 20 240/ 10,800
ULEE = 7 |F—4aAN- w2 1| RPRRET 288K AR EDEE OCREE 1.5 100 100 100 100 100 100 125 125 100 100 100 100| 1,250 1,875
7|54 7 |F—4aAN - #R 1| RPRRET 288 21)@%%5&% ES (ENRDERER 10.0 20 20 20 20 20 20 20 20 20 20 20 20 240 2,400
T|1ERIfE A |XEEM - RS 2 AR E D HERHD (ARRDETEREES) 30.0 20 20 20 20 20 20 20 20 20 20 20 20 240 7,200
T|1ERIfE A |XEEM - RS 2 |REBEEHE HERHD (ARRDETEREES) 90.0 26 26 26 26 26 26 26 26 26 26 26 26 312 28,080
7| @i 1 |xEte - 24 3 |mmatumE BaRD ZMToY BEEETIV 0.0 6 6 4 16 960
7|54 1 |xEfEm - A 3 |RBRHEE ERIREE HRER 3.0 1,100{ 1,100 1,500 2,300/ 1,500| 1,400 2,100( 3,300| 1,100/ 1,100 1,100( 1,100| 18,700 56,100
7|54 1 |x@fEm - A 3 |RBRHEE BRI HRHA 3.0{ 1,100{ 1,100 1,500 2,300 1,500| 1,400 2,100( 3,300| 1,100/ 1,100 1,100( 1,100| 18,700 56,100
7| @Bz A | - 3 |meaawmE RS EAERRD RARAE] 450.0 1 1 180
U A | - 3 |mzaawE BARD  EAERRD RARAE] 450.0 1 1 180

"/ MR-y



